N of associated (recoToSim) looper tracks vs dxy

N of reco track vs dxy N of associated (recoToSim) tracks vs dxy

2 2 2 2
Q Q o Q
g g g g
) s 2 E
£ s g
E
o
°
E:
i i I m” TR =P "‘ [ T
|HH|M‘ | MHW 09 l"“ ] ‘;\| T m ]
‘IY "
T Ll il b mHI\ | BEN | N
55 —20-15-10 505 1o 15 20 25 55— 20 15-10 -5 0 5 10 15 20 25 325 20 15 1050 5 10 15 20 25 5=50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 2 2 2
Q Q [=] [}
g g g g
[ (0] Q
E E
g
o
° ° ° °
3 3 3 3
o 24 o 14
1 . 1 : il il ] : : :
0¥3p 20 -10 0 10 20 30 °¥p 20 -10 0 10 20 30 0¥30 20 -10 0 10 20 30 10 20

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


